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Ananms.

1. AHanu3 ycnoBus.

F'(x) = f(x)

j f(x)dx = F(x)+c

[£ede = Fx); =

= F(b)- F(a)

HNHTEI'PAJI
Tabnuia HHTETpasoB.
1. j.de=c yd Idx =log,|x|+¢
xm+1 ;x{na
2. |x"dx = +c¢, m#-—1 -
I - 7a.Ix =Inlx|+¢
2a. _[ldx=x+c g J. 25 a* e
. |atdx =
dx Ina
26. [~==2Jx +c
L/; 8a. Ie"dx=e"+c
3. Isinxdx=—cosx+c J- dx — arcsiny+c =
4. |cosx dx=sinx+c 9 W1-#
e = —arccosx +c¢
5. =tgx+c dx
'[coszx & j ~=arcigx+c=
i 10. J1+x
6. =-—clg x+c¢ =- tox +
Isinzx g arcctgx +c

[IpaBuia HHTErPUPOBAHUS.

L [(f@) 2 g@)ds = [f(x)dx + [g(x)d
2. [k f(o)dx =k [ f(x)dx
3. [f(r+ b)de =% F(ke+b)

4. j f(x)dx = —aj £(x)dx
5. ‘]f(x)dx =0

6. [f(x)dx= j f(X)dx+ [f(x)d

IIpo6/eMBbI B ITyTH UX PEIIECHHS.

HeTt ¢opMyJ1 HHTErpaJl MPOM3BEIEHHUS, YACTHOTO, CIIOKHOU

GdyHKIMH.

1. HemocpeICTBEHHbIH (TPEACTABUTh B BHIE CyMMBI Tabimy-

HBIX UHTETpajioB)
2. 3aMeHa NepeMEHHON

3. 110 4YacTIM

udv =uv —

vdu

4. MHTErpUpOBaHUe pall. ApoOeH ...

IIpumenenue.

1. IInomans ¢purypsl

a) YA
y=f(x)/
TN

.a 0 b ?
S = [f(x)dx
) w4
a of b R
— *
y=re| T~
S=- j F(x)dx

2. O6BeM ¢Gurypsl.
b
V= [S(x)dx

3. B pmsuke...

A

6) I y=r®
| e
a:g 0 Eb X

S = [(f(x)-g@)dx

INESEN
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S = —] F(x)dx + j F(x)dx

b
Viewaso=7 (/7 (%) — g (x))dx





